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SCIENCE
Full Marks — 80
Pass Marks — 20
Time : Three hours.

Answer all questions.

The figures in the right hand margin indicate full marks for the questions.

SECTION-A
CHEMISTRY
(Marks — 26)

Answer Question Nos. 1 to 4 in a sentence, a phrase or a word each.

1. What are catalysts ? 1

cobiferE gl sfRem 2

2. “Xx”is anelement of group 2 of the periodic tabie. How many electrons are

there in the valence shell of the element ? 1

"z i oo B group 2 e SRS wafi | BT iR corem
CTeTHl mmmﬂ 7

3.  Whatis metallic character ? 1
CIDIRP CPLIES I IR 2

Oentd.

Washing soda, a white crystalline solid on heating becomes amorphous in
nature. What is the type of reaction involved in the change ? 1

BB FIEISH G AP mwﬁ@m%@maw%lm\ xsm%tww
TrafaRr fas=al e SR 2

Answer Question Noé‘ 5 to 8 in about 30 words each.

What are ores 7 What-is the most important ore of aluminium ? 2
SN FRTT 7 e YR TGN G R ?

In two test tubes containing dilute HCI solution, Mg and Cu metals are

added separately. Explain what will happen in each of the test tubes.
2

Hhe Erar HC 31931 (58 i3 AT CoRe (OINeH] Mgm Cu B2 Z1#160a | (08
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Draw a neat dlagram ofelectron sea model of metalhc bonding and label the
Kernals and vaience electrons 2

CERE AR g B (RITSeR o B3R YR ST G e RS CSTET

FECHIHR W A8 1

How is bleaching powder prepared ? What chemical is responsible for
the bleaching and disinfectant activity of bleaching powder ? 2
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Answer Question Nos. 9to 11 in about 50 words éach.

How is a covalent bond formed ? Why. are the covalent compounds
non-conducting and low meltmg/ boiling ? . 3

RISED (% T P OIS 7 (D T B we e tsmsi
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Na,O dissolves in water to form a compound “X” which is soapy to

touch and bitter in-taste. This. compound “X” undergoes nutrahsat:on'
“reaction with HC! solution to form a sait “Y”. Identify “X” and “Y”. What
- will be the nature of the aqueous soiu’non_ of “Y” towards litmus paper ?

-3

Naéo B O3 ST AT A, IR WG (5F1 S NG 2 o

(| 1| TG XY F HC cieptaen sgenareni Raws c8Ren o “Y” oy |
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- "We cannoct c|assn‘y the elements sharply into metals and non metals

on the basis of their physical properties alone.” Justify the statement by
taking three suitable elements regarding hardness, meltlng poml and
electrical conductivity respectively. 3
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Answer Questron No.12in about 100 words.

. Write the structure and IUPAG name of the possible isomers having
‘molecular formula C,H,. Which of the isomers will undergo bromination
- reaction w1th bromlne water ? Write the reaction involved. ' 5
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SECTION-B
PHYSICS
(Marks - 26)

Answer Question Nos. 13to 16 in one éenfence each.

Whydoa béttery oracellis aiw-ays included in an electric circuit ? 1

AT AFRH I IS (A6 AL@N T S FSRAICAT ?

State the fu;mctlon of an electric mbtor. 1
S RO A O SR R | |

When a magnet is brought-close toa compass neédle.' the needle
deflects. Give reasons. S 1

<Font Fset ST TG (TSI W1 ARRe e e oy ZRee S A
A person suffenng from Myopia (near sightness) cannot see far oft
objects clear[y Givereasons. 1
Tl (3 91) w’ﬁrwwwtm conefie TP ST T BH :aﬁﬁt
I A | | | o

Answer Question Nos. 17 to 20 in about 30 words éach.

State the factor on which the resistance of a conductor depends.

| —;-x4l=2:
pese o RRCET Wt TR T4 CAREC TRy |
Draw and labélled an A.C. Generator, 15;4-‘—;-:2
A.C. CaTTILT Swal W61 WW#&T&M G GRS |
| xplain how electricity is produced by using- suniight. - 2
i+l wstenit Aot PRy nsﬁm TRR#TH OIS | |
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~ -“the solenoid depen

Nuclear energy cannot be used in large scale for productlon of energy.
eweﬁasons 2

Iﬁ@waﬁmﬁﬁ%mﬁcwﬁmﬁm%r -

Answer Ouest.'on Nos 2 ;‘fo-23-ln-about 50 word's each-'

 How many resustors of 110 (o3 each are requrred m paralle! combmatlon

soasto carry 6Aon 220 Y supp!y fine ? - 241=3

_220VﬂﬁWmW6AﬁmmﬁwﬁﬂOn?ﬂm

TRE CHICITAS SSITCH 2 : -
What is a solenoid ? State the factors on which the magnetic field inside
142=3

" mmm 7 mmmmmw mﬂmﬁaﬁ-@iaﬁiﬂWMﬂ

23.

24,

3 -Ca!cuiaie the power of a convex Iens of focal Iength 75 cm

|

In what respect an A.C generator differs from a D C generator ? 3

- ALC. mmoc mmaf&mmm?

Answer Quest:on No. 24 in abouf 100 words

Defme refractwe lndex of a medium Deduce the expressuon

" Real d‘epth
Apparent depth

143+1=6

| 'mm%m@mafamvmﬁmwﬁwm
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_ aﬁ ‘Real depth
- an '~ Apparent depth
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SECTION~C
BIOLOGY
(Marks - 28)
Answer Question Nos' 25 to 28 in one sentence each.

From wh:ch part of lndla the earlleat fossil remains of Homo sapiens

was dlscovered ?- - : _ 1
SHSH w wﬁ’fﬂ@w 'sr—:r"i’r CRIT AT cmﬁa s;[amﬁaw 7.
Why excretion is consudered as an essential process oflife ? - 1
s o R S T (o o TR AT

S ._.:_,.1 differs from cross pollination? 1

T oGS G TGO < NS AT 7

28.

Construct one possible reason for inadequate. facility for effective

collection and disposal of solid waste from Imphal city. . 1

mﬂmaﬂmm‘-@wmﬁwﬁ CHTTRTR S TN JCMesIaBY Wi
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Answer Ouest:on Nos 29 to 33.in about 30 words each

297 State two functior's of hmd bram of human bemg R 2
meﬁﬁﬁ@mmﬂt‘ﬁrﬁﬁmﬁt ) |
0. Describe two methods of rain water harvesting.in Méni_p.ﬁ,ﬁ T o 2
Yo m%%wﬁmﬁmwmﬁ%miﬂ ! .
11, Explainthe éction of twﬁ groi«fth inhibitdré in plant.. | | - s .2
RCIGRIES mwﬁmmnr e CofIeeTS. Sl mﬂrﬂ’fﬁr WW 3 '_
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‘Why are insects regarded as necessary evil ? Give two points. :2

o wstRieR] SOl CWWGWMWWWEF%%?

37.

~ Mention the three types of asexual reproduction with suitable examples.

cﬁ%ﬁ%ﬁ‘% I |
* Draw a diagram of the L.S. of a bean seed and label embryo and - :
cotyledons. - T : ™

P OB | |

Answer Question Nos. 34 to 36 in about 50 WOi‘ds each. ‘-

3
Wﬁw%wawmw%mﬁ L
Accordmg to Charles Darwin the formation of new species takes place

only after achieving three events. llustrate the threeevents. = = 3

mﬁ‘-ﬂ@ﬁﬂﬁ \ﬁc‘rﬁwﬁm o C"Wﬁﬁ'@%’l WA cﬂ?tmw cenﬁﬁ‘{mq
TS S WY FATAL T60 -m:n lcicill | _ |
Heterotrophs are directly or indirectly depended on autotrophs Justlfy
the s’tatement by giving three reasons. . 3

- WWW&W%W%W°@Q umw %mﬁyﬁl |
R OIS -'
AnsWer Question No. 37 in about 1 00 words

Select five practices for the conservation of coal and petroleum 5
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BSRﬁi-.1BSic;(,N) o o 7 -C



